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1.

Divide 3%’ +3x—3 by x-2.

[A] 3x>+9x+15 + 30
X=2

[C] 3x2+6x—9 — 15
X—=2

Divide 2x* —2Xx+6 by x+3.

[A] 2x° —6x-20 + 2%
X+3
[C] 2X% —6x+16 — 2
X+3

. Divide 3x’ +Xx—4 by x+2.

[A] 3x*—6x—11 + L
X+2
[C] 3x>—6x+13 — 30
X+2

Divide 2x’ —5x+7 by x-3.

[A] 25+ x+10 + 0
X—3

(€] 2% +6x-23 — 0
X-3

Divide 2x’ + X -5 by x—2.

[A] 2X° +5X+5 + 10
X=2

[C] 2X* +5x—10 — il
X—2

NAME:

[B] 3x* +9x—18 _
X=2

[D] 3x*>+6x+15 + 27
X=2

[B] 2x* —8x+30 — 20
X+3

[D] 2x* —8x—24 + 78
X+3

[B] 3x* —5Xx+6 — 12
X+2

[D] 3x*-5x-10 + 16
X+2

[B] 2X>+6X+13 + 46
X—3

[D] 2x* +x-3 — 2
X—3

[B] 2x*> +4x-7 — 18
X=2

[D] 2X* +4Xx+9 + 13
X=2
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NAME:
6. Divide —3x’> +2x-9 by x-3.
[A] —3x2—7x—30—ﬂ [B] —3x2—9x—25—ﬁ
X—3 X=3
[C]—3x2—7x+21+—éi— [D] —3x2—9x+29+~j¥L
X—3 X—3
7. Divide —2%’ +2Xx+9 by x—3.
[A] —2X*> —4x+12 LB [B] —2x>—4x-3 2
X-3 X—3
[C] —2x2—6x—16—£ [D] —2x* —6X+20 LI
X—3 X—3

Divide x’ +3x—1 by x+2.

[A] X* +Xx-3 T [B] X X2 — [C] x*-2x-1 L4 [D] x*—2x+7 _ 5
X+2 X+2 X+2 X+2

Divide x> —x+8 by x—3.

[A] X2+3x—10 — —2>_

[B]x2+2x—6———EL

X-3 X—3

[C] x2+3x+8+3—23 D] x2+2x+14+4—23
— X_

Compare the quantity in Column A with the quantity in Column B.
the quotient of (X* +X* +7X +26) + (X —2)
Column A

Column B
the coefficient of the X*> term  the constant term

[A] The quantity in Column A is greater. [B] The quantity in Column B is greater.
[C] The two quantities are equal.

[D] The relationship cannot be determined on the basis of the information supplied.
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[1] D

2] C

3] C

[4] B

[5] D

[6] B

[71 C

[8] D

91 C

[10] B




